A3 (mod 7)
blocks | defect matrix blocks | defect matrix
G: 1 1 7x6 15 0 73711 = X319, P38
2 1 7x6 16 0 80081 = X41, P39
3 1 7x6 17=16 0 80082 = x42, P40
4 1 7x6 18 0 90091 = x44, P43
5 1 7X6 19 0 120121 = x49, P45
6 1 5x3 20 0 120122 = x50, P46
7 0 4621 = x10, P10 21 0 150151 = x52, P48
8 0 4622 = x11, P11
9 0 13651 = x17, V18 2.G : 22 1 7% 6
10 0 30031 = x22, Y27 23 1 5 %3
11 0 36401 = 27, P29 24 1 5 %3
12 0 40041 = x28, P30 25 1 7x6
13 0 50051 = X33, 33 26 0 49281 = X64, P60
14 0 60061 = x36, ¥35 277 0 160161 = x79, ©68
28 = 27 0 160162 = X380, @69
Block 1: | o1 @14 @17 P28 @32 P34
Li=x1| 1 . = h
7921 = x14 | - 1 ) e = 7921
1287, =16 | 1 . 1 . pir = 1286
4290; = ys30 | . 1 | pos = 3498
57200 = xss | . . 1 . . paz = 4434,
93601 = Y15 1 1 ©34 = 58621
102961 = xus6 1
Block 2: | 2 ¢g w12 @37 P41 Par
121=y2| 1 . p2 = 12
4294 = 11 ps = 410
3 = X9
495 = x| . . 1 . vz = 495
8000 =vao | . . 1 1 . a7 = 7305
85801 = xa3 | . 1 R B va = 8163
205921 = x4 1.1 par = 13287
214501 = X55 1 1




Block 3: | w3 ©i3 @19 2 P42
651 =x3 | 1 .
5721 = X13 1 1 .
14301 = X18 . . 1
34322 = X24 . 1
42121 = X29 1 1 .
114401 = X47 1 1
115831 = Xus 1
Block 4: | w14 @6 w22 Y25 ©36 Paa
661 =xa | 1 .
2201 = X6 . 1 .
28601 = x21 | 1 . 1
51481 = X34 . . 1 1
68641 = X38 . 1 . .
128701 = X51 1 1
171601 = x53 1
Block 5: | o5 w7 w15 w16 P21 P23
2081 = X5 1 .
4299 = X8 1 1 .
9361 =x15 | - - 1
25742 = X20 . 1 . .
34321 = X23 1 . 1
34323 = X25 1 .
35751 = X26 1 1
Block 6: | o9 20 31
429 = x7 | 1 . ©9
25741 = x19 | 1 1 . ©20
42905 = x31 1 P31
42903 = x32 1
64351 = x37 1 1

¥3
$13
P19
P24
¥26
P42

P4
©e
P22
25
¥36
P44

P5
P
P15
P16
P21
P23

429,
2145,
4290,

651
507y
14304
27823
2925,
86581

661
2204
23544
27944
6644,
105164

2084
2214
9364
1079,
2353,
2496,



Block 22: | o419 @50 @53 @54 P65 Qo6
321 =xs56 | 1 :
322 = x57 : 1 :
42241 = X2 1 1 1 1 .
91524 = xe9 1 :
91525 = x70 . . 1
112323 = X174 1 . 1 .
112324 = x75 1 1
Block 23: | v51 w57 wes
3521 = Xxs58 1 . P51
45761 = 63 . 1 . P57
9504, = x71 1 . 1 P64
137282 = X717 1 1
137283 = xvs 1 1
Block 24: | 50 w63  wer
17281 = X59 1 ©52
88001 = x5 1 Y63
137281 = x76 Per
208001 = xs1
208002 = xs2
Block 25: | @55 @56 w58 w59 Y61 P62
24961 = x60 1 .
24965 = Y61 1 . .
9152, = xe6 . 1 1 .
91522 = Xe67 1 . 1 .
91523 = x68 1 : 1
112321 = x70 . 1 . 1
112325 = 73 1 1
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